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No. £ ¥ OE|\E | B & &

1|{REETSE 1.00f =K 275,000
2 EETSE 1.00 =K 388,800
IIRETE 1.00] = 398,200
At ETE 1.00f =K 412,500
S5|ZDith TE 1.00] =& Rl &
6|EXRRIFETIE 1.00f =K 322,400
NEAESREISE 1.00[ = 633,000
8|FEIRE 1.00[ = 400,000

ait 2,829,900

2/10




No. £ o b | ¥ OE|\E | B & &

i

B4E 1.00] =& 20,000 20,000
EHLE 1.00] =K 20,000 20,000
fRE&# Bi5 - AR 1.00] = 25,000 25,000
BR/IERRE 1.00 =K 20,000 20,000
REMUDE 100 & 80,000 80,000
5lEELY) ==Y BEEL 1.00f =K 25,000 25,000
ERTF AR (K LY i 1.00[ = 45,000 45,000
B - E iy E 1.00 =K 40,000 40,000
ait 275,000
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No. 4 o b | A ¥ OE|\E | B & 8

EELE

BEEYEETE MI 1.00f =& 85,000 85,000
BYAO=A# 1.00| ~Fr 24,000 24,000
ABMAFroRILYR—L| O ILASF-1_HO—L 4.00| ~FRr 2,200 8,800
(&l L =T Eh 4R W2t IS7 v 8T 6.00| set 8,500 51,000
KL K@y &R 1.00f =K 135,000 135,000
BEEI/ARRY A ENA AR 1.00] = Bk
BEIEM 1.00f = 15,000 15,000
RGHETE 1.00f =X 50,000 50,000
BEMERIBAZ 1.00( = 20,000 20,000
ait 388,800
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No. 4 o b | A ¥ OE|\E | B & & ik
RRIE
(E#ERE)
BFEAVFI—k W3000 TFABURSK{TE 1.00[ & 220,000 220,000
REEEIY IV W3000 1.00( = 32,000 32,000
BA JVIREAA T ERE1E ERRKERIR MK 1.00] = G T REEEL T
gyh— 1000 & X HE R | XOEEEL T
EEEEMHvrEE) 2.00| ~#Fr 9,600 19,200
BEIEHM 1.00f = 12,000 12,000
RIS T E 1.00f =X 90,000 90,000
EHRHRA B 1.00( = 25,000 25,000
(ERSRE)
A7 LIRS 100 & FEEEE
Hyh— 300 & "
A/ NN—T—3> 1.000 & ik
REMIBESR 100 = fhik
SRR A B 1.000 = Hub
ait 398,200
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No. & | ¥ E(HE G| B & %

HLETE

BEmEmYORERY BEFALED 6200 m 2,000 124,000
RIEE 21 JLERY 2200 m 6,000 132,000
KERY—REY KiEy 800 m 6,000 48,000
PZANIIES 1.00] = 18,000 18,000
RELY AO-EKREFE 1.00] = 15,000 15,000
BE# 1.00] = 25,000 25,000
EMERIRAE 1.00] = 20,000 20,000
BYAOH—T> 1.00| &~FR 8,000 8,000
R EL—IL 1.00| ~Ff 2,500 2,500
h—TU5EREE 1.00f = 20,000 20,000
=11 412,500
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No. & b | A ¥ E(HE G| B & %

N IE

SUSIREXFH A B 1.00| ~Ff Bl
AOFEASRAET A1V BEEOT AvTFAT S —RIXE 1.00| 4~FR Al
B &+ 100 = Rl
RLtHETE 1.00] = A&

m
&t
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No. & b7 ¥ E(HE G| B & %

BRILE

ARYES A+ 800l & 7,800 62,400
BT I 10.00] m 5,500 55,000
IREASR E R - MY HITE 1.00] = 65,000 65,000
R RTIEER 100 = 45,000 45,000
SWIZ%E 100 = 20,000 20,000
BEsERlEnEs 100 = 15,000 15,000
MM EER 100 = 30,000 30,000
BN E 100 = 30,000 30,000
&E&t 322,400
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No. & b | ¥ E(HE G| B & %

WERMIE

HWHKGEERELS 1.00f = 85,000 85,000
2B Y BEKEET 1000 & 78,000 78,000
ihizee 165 1000 & gk
o T—8 1000 & A
KLy — I A 100 & 68,000 68,000
S FEERY 1+ 1+ & S T—BED 1.00] =t 150,000 150,000
MMIEFER 1.00] =t 30,000 30,000
ERRAE 100 = 30,000 30,000
EREKE 30L 200 & 96,000 192,000
&t 633,000
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No. 4 Lo ¥ OE|\E | B & 8
R
RS EEE 1.00] =X 150,000 150,000
RIGEE 1.00] == 150,000 150,000
S 1.00 = 100,000 100,000
ait 400,000

10/10






